MATH 2850

Quiz 3
March 23, 2017 NAME.
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1. The equations * Y ¢ define y and z in terms of x by h(x) = (3,z) near
X + xcosz + ze¥ = O :

(x,¥,2) = (0,1,0). Find the derivative matrix /#'(0). What is %”(O)?
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2. Let x(#) = (cos2t,sin2t, Lr—%) for 0 < ¢ < 5. Calculate the following for the curve x(¢).
Indicate which is which.

i. The velocity —r % (+\ = é—’}_ Sw 2%, 2.cas 24, -&Vl )
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ii. The acceleration - x (*\ = (—% cos H — 4 s 24 2.—\ A L7 )
iii. The speed

v. Thelength, = Ux' (I = [ t swd 24 + L cas 24 = b= Jatt
v. An equation of the tangent line to x(¢) when ¢ = 4
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